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Four alternatives are given for each of the following questions / incomplete
statements. Only one of them is correct or most appropriate. Choose the correct

alternative and write the complete answer along with its letter of alphabet.

10x1=10

The “Mysore State” was renamed as Karnataka in the year

(A) 1973 (B) 1963

(C) 1953 (D) 1956.

The industry established in India with the assistance of Soviet Russia is
(A) Sugar

(B) Fertilizer

(C) Paper

(D) Iron and Steel.

The General Assembly of UNO is regarded as World Parliament because it
(A) supports Human Rights

(B) fights against racial discrimination

(C) consists of all members of UN

(D) works for the welfare of underdeveloped countries.

The practice of untouchability is decreasing because

(A) increasing employment opportunities

(B) increasing literacy

(C) Dbetter health facilities

(D) better transport system.
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5. The North Indian Plain has very high temperature than South India because
itis
(A) alevelled land
(B) getting less rainfall
(C) far from the sea
(D) a desert soil area.
6. The Alamatti dam constructed across River Krishna is named after
(A) Jawaharlal Nehru
(B) Morarji Desai
(C) Charan Singh
(D) Lal Bahadur Shastry.
7. The amendment which added the phrases “Secular” and “Socialist” to our
Constitution is
(A) 52nd (B) 42nd
(€) 22nd (D) 26th.
8. An example for indirect taxes is

(A) Personal Income Tax

(B) Wealth Tax

(C) Corporate Tax

(D) Service Tax.
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9. The bank account which is opened for a purpose to save for future is
(A) Recurring Deposit Account
(B) Current Account
(C) Savings Bank Account
(D) Term Deposit Account.
10. The Chairman of Wipro Technologies is
(A) Dhirubhai Ambani
(B) Ekta Kapoor
(C) Azim Premji

(D) Varghese Kurien.
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Four choices are given for each of the following questions /

answer and write the complete answer along with its letter of alphabet.

The war that ended with the treaty of Salbai was

(A) Second Anglo-Maratha War

(B) Second Anglo-Sikh War

(C) First Anglo-Maratha War

(D) First Anglo-Mysore War.

In 1938, The President of Haripur Congress Session was

(A) Sardar Vallabhbhai Patel

(B) Dr. B. R. Ambedkar

(C) Bal Gangadhar Tilak

(D) Subhash Chandra Bose.

The main objective of the French Revolution of 1789 was the

(A) establishment of U.N.O

(B) protection of Human Rights

(C) prevention of Foreign Invasion

(D) establishment of League of Nations.
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Narmada Bachao Andolan was led by

(A) Medha Patekar

(B) Dr. Shivaram Karanth

(C) Kusuma Soraba

(D) Sundarlal Bahuguna.

The telephone number of child helpline is

(A) 1098 (B) 1090
(C) 1089 (D) 1097.
The correct pair among the following is

(A) Andhis — West Bengal

(B) Kalbaisakhi — Punjab

(C) Mango shower — Tamil Nadu

(D) Coffee Blossom — Karnataka.

Human Development Index of India in 2014 was
(A) 0-586 (B) 0-344
(C) 0-562 (D) 0-856.
The Father of the White Revolution is

(A) Dr. Pratap Reddy

(B) Narayana Murthy

(C) Varghese Kurien

(D) Azim Premji.
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